Q=440

T<T|T=T Constraint

a|N Type placeholder or Type
C<T> Class Type containing type placeholders
C<G> Class Type not containing type placeholders

S-REFL
T<: T

S-TRANS
T) <: Ty Ty <: T3
T; <: T3

S-VaAr
A <:A(B)

S-Crass
class C<X>«N

C<T> <: [T/X|N

N-REFL
C<<C

biC<T1...Tn>

b<C<T1...Tn>

N-TRANS N-CrLass
Ci << Cy Co << C3g class C<...>«4D<...>
Ci << C3 C<<D

T, =T, T, =T,

SuBsT-PARAM’

T =58 b<C<Ty...,T,...

SuBsT-L SusT-R SUBST-LQUAL SwAP
a=T; a<<To a=T; To < a a=T; a =Ty Ty =T

T1 < To To < Ty Ty =Ts To =T
UNFOLD UNFOLD’ SuUBST-PARAM

T =8 T=0C<Ty...
T = C<Ty,...S,...Tp>

T,> S-OBJECT

b < C<Ty,...S,...Tp>

MaArcH
a < Ny a < No Ny << No
Ny < No
ADAPT

Nj < C<T;...Tp>

N; <:C<Sj...Sp>

a < 0Object

ADOPT
a<b b<T

a<T

REDUCE
C<Sy...Sy> =C<Ty...Tp>

C<Sy...8,> =C<Ty...Tp>

S, =T,

Apply only once per constraint:

SUPER

N<a

N <: N

a =N

SpLIT-L

a<b

b<N

a<N

SpLiT-R
a<b

N<b

a<N

Result:

SOLUTION
a=G

o(a) =G

SOLUTION-GEN

a<Cy,..

,a<Cy

Vi :Cp << C;

a=Cy,,

FaiL FAIL-GENERIC FAIL-SiGMA
C<...>=D<...> C#D X=T X#T a=N acN
0 0
FaIL
a <Ny a < No not Ny << Ng not No << Ny

Fail:

0



